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COMMERCE
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Paper-I111

1.  Under the provisions of the
Industries (Development and
Regulation) Act, 1951, a licence is
necessary for
(A) Changing the location of an

existing industrial undertaking.

(B) producing or manufacturing a

‘new article’ in an existing
industrial undertaking.

(C) Establishing a new

undertaking.

(D) All of the above.

2. Match the items of List-1 with the
items of List-11 and select the correct
answer. 4

List—1 List— 11 :

(i) Political (@) Important for
and Legal industries
Environ- directly
ment depending

on imports
or exports.

(i) Demo- (b) Close
graphic relationship
Environ- with the
ment economic

system and
economic
policy.

(iii) Economic  (c) Related to
Environ- natural
ment resources.

(iv) Geo- (d) Occupational
graphical and spatial
and mobilities of
Ecological population
Environ- having
ment implications

for business.

Codes :

(i) () (i) (iv)

(A) (b) (d) () (a)

(B) () (d (a) (c)

€ @ () () (@

(D) (@ () () (o)

Match the items

of List-1 with the

items of List-11 and select the correct

answer :
List— 1 List— 11

() SLR (@ Working in the

field of consumer
protection.

(i) SIDBI  (b) Credit control.

(iii) CUTS  (c) Industrial policy.

(iv) ILPIC (d) Facilitating Small

Scale Industries.

COdes.: (..) (...) (. )

i i) (i) (v

A) (a Cc d b

11

C) (a b) (c d

D) (a c) (b d

Match the following :

List—1 List— 11

(1) National (@) Marks the
Stock beginning of the
Exchange process of

dematerialisation
of shares of the
participating
companies.

(i) National  (b) Facilitation of
Securities equal access to
Depository investors  across
Limited the country.

(iii) Securities (c) To foster the
and development of
Exchange an active
Board of secondary market
India for Government

Securities.

(iv) Securities (d) Abolition of
Trading Capital issues
Corporat- control and
ion of retaining the sale
India authority for new

capital issues.

COdes.: (..) (...) (. )

i i) (i) (v

A) (b a) (d Cc

B) (a b) (c d

LR

D) (d c) (b a
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(D) Swg w4l & ford

2. -l S 7EE B G-Il B EET A
gﬁfﬁﬁﬁaﬁtwﬁﬂﬁwwam

= - | =it - 11
(i) TSHITOe U (@) STt a
AT BRISIRCEEsIC]
STATEROT T 32 &
ToTa Hearguy
(i) sHifes (b)) e e
STATEROT Te e it
& Y "
Ty
(i) amferes (c) mﬁsﬁw&qﬁ‘r
STATEROT T g
(iv) s 3R (d) ST S
Bl RINEAR) g T
TR EIIECa
RIGKICEIS ]
T
wqiferT el &

A

@) @) (i) (iv)
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10.

The United Nations Conference on
Trade and Development (UNCTAD)

was set up in
(A) 1944 (B) 1954
(C) 1960 (D) 1964

Indicate the ground on which a
complaint under the Consumer
Protection Act, 1986, shall be invalid.
(A) A product having short weight.
(B) A service provided free of cost.
(C) A misleading advertisement
given in newspaper.
(D) None of the above.

Out of the following, which are the
four components of food security ?
(i) Food availability

(i)  Food market

(ili) Food accessibility

(iv) Food utilization

(v) Food credit

Codes :

(A) (iii), (iv) and (v)

(B) (i), (iii) and (iv)

(C) (i), (i) and (iii)

(D) (i), (ii) and (iv)

Performance  evaluation of a
responsibility centre can be done by
(A) ROI

(B) Return on sales

(C) EVA

(D) All of the above

Social Balance Sheet shows

(A) Social costs

(B) Social revenues

(C) Value of employees of the
organisation

(D) All of the above

Which of the following comes under
efficiency ratios ?

(A) Average collection period

(B) Inventory turnover ratio

(C) Fixed assets turnover ratio

(D) All of the above

Paper-I111

11.

12.

Match the items of the following two
lists :

List—1 List—11
(i) Statement of (a) Cash Flow
changes in Statement
Working
Capital
(ii) Deferred (b) Fixed
Tax Assets
(iii) Three (c) Funds
activities Flow
Statement
(iv) Impairment (d) Balance
Loss Sheet
Codes :
(i) @) (i) (iv)

A @ b @© @
(B) (© @ b (@
€ © W @ (@O
D) @ © @ (O®

Match the items of the following two
lists and indicate the correct answer :

List—1 List— 11

(i) Earning (@) Basis  of
ability  of Accounting
firm

(i) Conserva- (b) P/V ratio

tism
(iii) Cash profit ~ (c) Cash flow

statement

(iv) Cash  and (d) Prudence
Accrual

Codes :
(i) (i) (i) (iv)

(A () @ @ (@
B) () @ (@ ()
€ © W @ O
D) © @ B @
J-08-13



10.

T FARLE T HHRE A S T0E
SIGTHE (UNCTAD) el ST T 2

(A) 1944 (B) 1954

(C) 1960 (D) 1964
SO TRET0T AT, 1986 & SFd
foTehTaret foh SR OT 37ary B 2

(A) H S I 3R

(B) .o USH &l ST el Jall

(C) R wf ® fgar T ums

IERIEE)
(D) -SRI Tt

TR T & 9K Heesh Fefoiad § 9
FE 2

(i) ST SUcTsydr

(i) W INR

(iii) @mer ST

(iv) @I ST

(v) w@rereq &

&<

(A) (i), (iv) 3R (v)

(B) (i), (iii) 3R (iv)

(©) (i), (ii) ¥R (iii)

(D) (i), (ii) 3R (iv)

ITEIE 5 W TR o
feReeh g TohaT ST TehelT & 2

(A) 3TR.37.37E (ROI)

(B) forsht X wfcehet

(C) T&IT (EVA)

(D) v qHl
GrITeh et O SR &

(A) QIR AN

(B) WIS TTH

(C) T & FHHANAT H 7o

(D) SwEw @t
fefefEad 5 & 9 91 &T9ar S &
AT 3T € 2

11.

12.

fferiaa 3 i @t 7T o e &
=it - | =it - 11

(i) FERN gst (@) 6% TaTE
4 ueaai &1 faeror
foraror

(i) sTf™ R (b) FeR aREm=t
(iiii) = nfafate () i vaTE
Eerul

(iv) &foreRer g1 (d) e o

A

i) @) (i) (iv)
A @ b «© @
B) (© @ b @
€ © @ @ (O
D) @ © @ (b

frfatad st gieat o 7l & e w3
3R TEt IR I
= - | = - 1
(i) H P SUSH (a) @R H
& 3MER
(i) Flea= (b) P/V 3T
(iii) THF AT (c) THR VAR
(iv) T wd (d) SIRIeT
BRI
FT

() (i) (i) (iv)
(A) (o) @ @ (@
(B) (b) (& (d (o)
€ © W @ O
D) © @ B @

Paper-111



13.

14.

15.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : Only the relevant
costs should be taken into
consideration  for  decision-
making.

Reason (R) : All variable costs are
relevant costs and all fixed
costs are irrelevant costs.

In the above two statements, which

one alternative of the following is

correct ?

Codes :

(A) Both (A) and (R) are correct.

(B) Only (A) is correct, but (R) is
wrong.

(C) Only (R) is correct, but (A) is
wrong.

(D) Both (A) and (R) are wrong.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Variance analysis is
undertaken for planning and
control of costs.

Reason (R) : Future costs are taken
into consideration in budgeting
and standard costing.

In the above two statements, which

one alternative of the following is

correct ?

Codes :

(A) Both (A) and (R) are correct
and (R) is the Reason for (A).

(B) Both (A) and (R) are correct
and (R) is not the Reason for
(A).

(C) (A) is correct, but (R) is wrong.

(D) (A) iswrong, but (R) is correct.

Assertion (A) : Mark-up pricing is a
method of determining price.

Reason (R) : P=ATC + (m x ATC)
is the expression for that.

Codes :

(A) (A) is correct but (R) is not
correct.

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are not
correct.

(D) (R) is correct, but (A) is not
correct.

Paper-I111

16.

17.

18.

19.

Match the items of List-1 with the
items of List-11 and select the correct

answer.
List— 1 List—11
(@) Economic (i) Total
profit Revenue
Explicit cost
(b) Accounting (ii) Buyers and
profit Sellers
exchanging
(c) Collusion/ (iii) Total
Cartel Revenue —
Total cost
(d) Market (iv) Oligopoly
Codes :

(@ (b () (d)

(A) (i) (i) (iv) (i)

(B) () (i) (i) (iv)

(C) (v) (i) (i) (i)

(D) (i) (v) () (i)

Which one is not the item of

economic cost to the business ?

(A) Owner supplied resources.

(B) Market supplied resources.

(C) Implicit costs.

(D) Non-monetary opportunity
costs of using owner supplied
resources.

Demand must have the elements

(A) Desire

(B) Want

(C) Quantity, Price and Time

(D) All of the above

Match the items of List-l and items
of List-1l and select the correct code
for the answer.

List— 1| List—11
(@) Utilitarian (i) Marginal Rate
Approach of Substitution
(b) Ordinal (if) Budget line &
Approach Indifference
Curve
(c) Price- @) U=f (x,y)
Consumption
Curve
(d) Consumer  (iv) MRSXy:
Equilibrium MRS, ,
N
a c
A) (i iv) (il ii
EB; ((n)) i) (iv) (i)
(C) (i) (1) () (V)
(D) (iv) (i) () (i)
J-08-13



13.

14.

15.

T S w7 T E U A e

(A) 3R Tl HROT (R) F&l T & :

afmem (A) (oA & fod Om
TR Tl e W
T |

FROU(R) @ URadr @
AN ST AT & |

U q FUA H a3 9 B

T U ferehed Wel & 2

ETE

(A) (A) 3R (R) IHT &t € |

(B) (A) W&l g, W (R) T ¢ |

(C) (R) W&l &, W= (A) Tod & |

(D) (A) 3R (R) 3T Tord € |

I 3 o 53 T E U AT

(A) 3T T B HROT (R) 1 0 {3

TN

ANWHYT (A) : TROT fITATT ANTA
A e =T &q e ST
g

HROT(R) ST @ AEH
AN | A&l ANl i & |
TG ST E |

ST & FeHl B FEfeted ¥ ¥ S

o1 T forehed Wl & 2

T

(A) (A) 3 (R) =+ w& & 3R (R),

(A) T HROTE |

(B) (A) 3R (R) Il @l & =] (R),

(A\) T HRT TE & |
(C) (A) e W (R) T |
(D) (A) Terd €, R (R) Tl ¢ |

atfiremer (A) : Afy-geam Hma i
HH H g & |

HROT(R) ;3T iiyaaferd
P=ATC+(mxATC)¥ |

E

(A) (A)Tel g, =< (R) T&l &l ¢ |

(B) (A) 3R (R) I @&t € |

(C) (A) 3R (R) 3T T&l &l & |

(D) (R) W&l g, = (A) &l i € |
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16.

17.

18.

19.

-1 o 7_Y B gA-11 B HEF A
GHAT Y 3 SR & Tel F 1 T
=¥ -

= - | = - 1
(a) TTFE T (i) FoT AI-TA=
AT
(i) sha e fashar
& o TR

(i) et 31 — P

(b) ST T
(c) RIEr=y

o
(d) SR
&HE
@ () (¢ (d)
(A) (iii) (i) (iv) (i)
(B) () (i) (iii) (iv)
66wy 6
ﬁm%?@ﬁﬁﬁaﬁ?ﬁqﬁ%‘?
(A) TETH RT GHTEAT T GOR0T
(B) WTSIR §RT TETEHT i (T
(C) sraffed ArTd
(D) @t gRY SIRA GATEAT 1 ST
Tl R-AGe T AT
H % Frefefiae o e =T
(A) s
(B) ATEgIHdl
(C) =m, Hd 3R T9
(D) aqﬁaﬂwﬁ
gA-1 TR B GA-11 B AT F qr
Wﬁﬁw%ﬂﬂﬁ?aﬂw

g:ﬁ | = - 1
(a) STARTAETET (i) WfeTe o
U g
(b) FHgEH (ii) =5t Y@ T
SUNH dsh
(c) =md 37T (iii) U=f (x, y)
(iv) MRS, =
MRS,

GIG)
(iv) STITEHR

CED
(d) e
Gt
HT
@ () () (d
(A) (1) (iv) (iii)y (i)
(B) (i) (iii) (iv) (i)
(C) (i) (1) (i) (iv)
(D) (iv) (i) (i) (i)
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20.

21.

22.

23.

The Learner Index measures
(A) Market power

(B) Price

(C) Price-Marginal cost
(D) None of the above

Match the items of List-1 and items
of List-1l and select the correct
answer.
List—1 List— 11
(a) Perfect (i) Different
competition prices for the
same
product
(b) Monopolistic  (ii) Dominant
competition strategy
(c) Oligopoly (iii) Product

differentiation

(d) Discriminating (iv) Identical

Monopoly product
Codes :

@ (b) () (d)
(A) (v) (i) (i) (i)
(B) (@) (i) (ii) (iv)
(€ (i) (v) (1) (i)
(D) (i) () (v) (i)

If there are 8 possible classes under
consideration for a goodness of-fit,
the number of degrees of freedom
will be
(A) 8
(B) 7
C 6
(D) Cannot be determined from the
given information.

Identify from the following, the test
statistic for which the value of
numerator should always be greater
than that of denominator.

(A) ‘Chi-square’ (B) ‘F’ value
(C) “Z’ value (D) ‘t’ value

Paper-I111

24,

25.

26.

27.

28.

Which of the following tests can be
applied to ordinal scale data ?

(i)  Chi-square test

(i) “Z’ test

(iii) Kruskal-Wallis test

(iv) Wilcoxon Mann-Whitney test
Codes :

(A) (i), (i) and (iii)

(B) (i), (iv) and (iii)

(C) (i), (iii) and (iv)

(D) (i), (ii) and (iv)

Which of the following tests can be

based on the normal distribution ?

(A) Difference between
independent means

(B) Difference between dependant
means

(C) Difference between proportions

(D) All of the above

From the following, identify one

situation where ‘F’ test cannot be

used ?

(A) To compare more than two
population means.

(B) To test the hypothesis about a
single population variance.

(C) To test the hypothesis about
two-population variance.

(D) To study about randomized
block design.

Which statistical test should be
applied to test the effectiveness of
‘special coaching” on the marks
scored by the students ?

(A) Paired ‘t’ test

(B) “Chi-square’ test

(C) “Z test

(D) “F’ test

In a linear equation,

y =a+ by, ‘a’ refersto
(A) Slope
(B) Y-intercept
(C) Dependant variable
(D) Independent variable

J-08-13



20.

21.

22.

23.

T Gashieh fohEehT T YT € 2
(A) TSR & oo

(B) i

(C) =Ha-Hmw A

(D) SWE H ¥ HIT T

A=l = 7R G-l H EE F A
FATAd Y 31T TR & Tel B B T
-

=t - | =t - 11
(a) o7 HfifTe (i) U & oy
fafi= i
(ii) Tl |
i
(c) TaMERR  (iii) IS ForeigrenvoT
(d) S=HeTH (iv) 9989 3%
THITHR

(b) THITHHRIRE
PIRRIRG

%

@ () «© (@
(A) (v) (i) (i) (7)
B) (@) (i) (i) (iv)
€ (i) (iv) () (i)
(D) (i) (@) (@v) (i)

Ifs GEFHAT ([T h-fhe) & o7 8
it o fod Q€ A W &5
shifeat g

A) 8

B) 7

©) 6

(D) & T BRI § Feifa & o

ST AT & |

ffafad | ®, WeT Qi Sy,
% feTT 37T 1 qod & & qor o
(A) ‘TR

(B) ‘FaeA

€ 7=

(D) A=
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24,

25.

26.

27.

28.

T A AT 3R W AT § o
iAW IRISI0T TR feRAT ST Hehel & 2
(i) “PE-TERER TR

(i)  “z’ wRer

(iii)  sHEheT AifeTa TRIEToT

(iv) focTeiera B-faet adteror

&<

(A) (i), (ii) = (i)

(B) (i), (iv) wd (iii)

(€) (i), (iii) wd (iv)

(D) (i), (ii) Td (iv)
frefafed § § &9 @ 9enr g
FeT IX SR &1 Tohall § 2

(A) = ATEAT & S TR

(B) 3T TTeAt o & 3T

(C) Ul & &= 3R

(D) Ry wdt

e # @ f6e o fafq 5 P

TRIETOT TR el fehaT ST \ehell & 9

(A) T ¥ R i wre s e
FHH

(B) UwA THRE TWRUT % &R H
RSB T TRIRI0T B

(C) T-|AM URROT &% I | TReheaT
T TNeT0T A H

(D) aCF=® ik fesieT & o

A |

BEAT RT Uil W) fae it &t
TSIl 1 ORI R % forw fohe
ifegenta TRieToT i TeR TSR S HehdT
T2
(A) IFE “t* gleToT
(B) ‘TR’ TRIEIUT
(C) “Z’ wiggor
(D) ‘F’ e
TG FHEHT

y =a+bx ¥ ‘a’ FT Gohd T ¢ 2
(A) &=
(B) Y-iewwe
(C) smisad =)
(D) A= =)
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29.

30.

31.

32.

Which among the following is the
most  popular  approach  for
accomplishing the results ?

(A) Management by exception

(B) Reward system

(C) Management by objectives

(D) Mentor system

The  managerial

organizing involves

(A) Reviewing and adjusting plan
in the light of changing
conditions.

(B) Establishing programme for the
accomplishment of objectives.

(C) Creating structure of functions
and duties to be performed.

(D) Getting things done through
others.

A leader who identifies what

subordinates need to do to achieve

objectives, clarify organizational

roles and tasks, set up an

organization structure, reward

performance and provide for the

social needs of their followers, is

(A) atransformational leader

(B) a participative leader

(C) atransactional leader

(D) an autocratic leader

Which of the following is not an

assumption of theory X ?

(A) An average human being has

an inherent dislike of work and
will avoid it if he can.

(B) An average human being
prefers to be directed, seeks to
avoid  responsibility,  has
relatively little ambition, and
want security above all.

(C) An average human being learns
under proper conditions, not
only to accept responsibility
but also to seek it.

(D) Most people must be coerced,
controlled, directed and
threatened with punishment to
get them put forth adequate
effort.

function of
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33.

34.

35.

36.

37.

If a network of interpersonal

relationship that arise when people

associate with each other is an

informal organization, then find out

which of the following is not an

informal organization ?

(A) The “machine shop” group

(B) Customers’ group

(C) The “sixth floor” group

(D) The “Friday evening bowling”
gang

Which of the following are sources
of ethics ?

(i) Religion

(i) Legal system

(iii) Economic system

(iv) Culture

(v) Family system

Select the correct answer from the
codes given below :

(A) (i), (i), (iii), (v)

(B) (), (i), (iv)

(C) (i), (iv), (v)

(D) (), (i), (iii), (iv), (v)

Which of the following has refined
Maslow’s theory of motivation by
proposing a hierarchy of three
needs ?

(A) MeClelland
(C) Herzburg

(B) Aldorfer
(D) Vroom

Which segmentation approach is the
most compatible with the spirit of the
marketing concept ?

(A) Benefit sought

(B) Income

(C) Social class

(D) Family size

The description of a product’s
quality, features, style, brand name
and packaging identifiers the

(A) Actual product

(B) Augmented product

(C) Core product

(D) Tangible product
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29.

30.

31.

32.

uRomEl H AR wH % o
frfeiad o @ Hais® Ay SUeTH
(SfeehivT) S AT E 2

(A) 3T9a FRT Ue=4 (MBE)

(B) IRl sFareen

(C) =¥l gRI Ua=eH (MBO)

(D) TRTHSIEIAT §RT e

Tifed A H USHHE wE B

U T & 2

(A) weor feafqai & weprer o FST
T GRS TN FHRES AT

(B) Swd ® wiEd A F fow
cnldshH IR el

(C) it ST At et 4R et

2T TR FHET
(D) &I T FHY [T FHLET

TH a1, ST TEE odr € 6 eniey
TN B SZTA BN W FA &F T
FIT TMEY, WSS YiHehrsti 3T Hraf
I WL KA &, GST 6T grar e
FHIAT §, TWEHR HO=TT HeRe e &,
AR oA I 2
SMATIHATST Bl T HH P HGET
AT &, THT T FT gl & 2

(A) TUAONT =ar

(B) Wewm M e

(C) TR Weh el

(D) TSR AT

fosTa T = A Efated § 9

i T TEE 2

(A) Ed BFE & FE & o Siasta
TIE= et T AR T W T
TR A o T Tl & |

(B) oitgd wHa TR & samwr
TG WA ¢, SRl e
TEA &, qoHHE €T F wH
SR, GRET e € |

(C) 3igd Oa T %aet SRR @i
TR Stad fefqal § drad €
R 3 U AT |

(D) oy @ § T W
FAH % T 3% arem, fate,
fefea qem I & | gHeE
TS |
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33.

34.

35.

36.

37.

Iqfg 3iq-Saferds Tl & S, 5
AN T Tk T & 9T FrIi-od &4 T
IO BT €, 3= 9med €, af e
Faey & FeAfcEg § 9§ 9 @
IR ST el € 2

(A) FTEA TE

(B) W' 1 THE

(C) ‘st ofeer g

(D) “TEHAR I TR THE

i o F FAfAred § 9 B d & 2
(i) =

(i) ST e

(iii) 3o e

(iv) F&pfd

(v) UIRenTRe saen

T 53 T el | TEl IR A T
(A) (), (i), (iii), (v)

(B) (i), (i), (iv)

(C) (i), (iv), (v)

(D) (), (i), (iii), (iv), (v)

frfafead o & foree 39et o SaRoT
g =i, A aTevawarsti &1 ITHY
TR Yok Tt fehar 2

(A) WS

(B) WererHY

(C) &stan

(D) o=

HIT A TR QU oy, famour =t
SAROT o e % FellTesh 3Fehet & ?
(A) 3Tferd o

(B)

(C) ST &

(D) URER & 6T

A 3T Gehtor T faeror frgent Team
AT & 2

(A) dTETee 3R i

(B) e 3curg i

(C) T 3 &

(D) Td 3R H
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38.

39.

40.

Consider the following statements
and find out the correct alternative
from the codes given below :

(1) A firm’s marketing information
system is a component of its
marketing research system.

(i) The most common forms of
marketing researches
conducted in most of the firms
are the measurement of market
potential and the analysis of
market share.

(iii) Survey research is seldom used
for studying consumer
perception and attitudes.

(iv) The concept of cognitive
dissonance is relevant to study
consumer’s post-purchase
behaviour.

Codes :

(A) All the statements are true.

(B) All the statements are false.

(C) (i) is false and the rest are true.

(D) (i) and (iv) are true and the rest
are false.

In India, which pricing practice is not
permissible ?

(A) Penetrating pricing

(B) Skimming pricing

(C) Predatory pricing

(D) None of the above

Consider the following statements
and find out the correct alternative
from the codes given below :

(i) A good salesman is one who
can sell refrigerator to an
Eskimo.

(i)  Salesmen are born, not made.

(iii) Physical distribution is an area
where high cost-savings is
possible.

Codes :

(A) (i) and (iii) are correct.

(B) (i) and (ii) are correct.

(C) (i) and (iii) are correct.

(D) All are correct.
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41.

42.

43.

Which form of retail outlet has the
highest operating costs ?

(A) Super market

(B) Consumer co-operative store
(C) Department store

(D) Retail chain store

Consider the following statements
and indicate the correct alternative
from the codes given below :

(i) The product management
system often turns out to be
costly.

(i)  When customers belong to
different user groups with
distinct buying preferences and
practices, a market
management organization is
not suitable.

(iii) Advertising department has the
closest interface with the
finance department of the
company.

Codes :

(A) (i) and (ii) are correct.

(B) (ii) and (iii) are correct.

(C) Only (i) is correct.

(D) All are correct.

Match the statements in List-1 with
dividend models in List-11 as follows :

List—1 List— 11

| Dividend 1. Traditional
Capitalisation Model
Approach.

Il Dividend Policy 2. Gardon
has a bearing on Model
the share
valuation.

Il Stock  Market 3. Walter
places more Model
weight on
dividends than
on retain
earnings.

IV Dividend payout 4. Modigliani
is irrelevant to and Miller
the value of the Model
firm.

Codes :

I n v

A 2 3 1 4

B 1 2 4 3

c 4 1 3 2

D) 3 4 2 1
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38.

39.

40.

At ol W oA w3 =

T2 el & Tet fashed A

(i) wH = fauom go=r yorelt fauom
I YOTIeAT B 3768 € |

(i) ot wHf o foqum Wy &
[aitysh  EaEE Y dNR

Tl AR 9NR % B H
fagemor g |

ST I S R g
T T FH & [T TA&TT I
HT IT BT & IUANT T ST
g

SUNIRT & HARIT HIeR ol
I A H ¥ IR
3T’ I SFHROT UG E |
G I

(A)
(B)

(iii)

(iv)

it T W E
Tt e T € |
(C) (i) Toid & 3fiX aeh! | el & |
(D) (ii) 3T (iv) TT & S T & |

aRd H, 9 ®Hmd [uror gomet o
AN el € 2

(A) DT AT HROT

(B) e Hima o

(C) RrepRY shrma T

(D) SUgH | ¥ Hig 7@l

frafafad At W AR X R =

53 et & Tt forshod o1 =2 Y

(i) 3T fashdl & & ST U T&hi
1 AFoeT 39 FehaT € |

(i) faskar SFoeTd €l €, 3% sHmEn

TET S |

Hifqer faaeor usw &7 € ' A

Fad Sl qaATgF T & |

&<

(A)

(B)

(©)

(D)

(iii)

(i) 3T (jii) W& € |
(i) 3R (i) W& |

(ii) 2 (iii) T & |
T T ¢ |
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41.

42.

43.

9 JFR & P HE (=) |

IeaaH IRET AN gl € 2

(A) FREIER

(B) USRI WehRT YUK

(C) fovria 9Yoer

(D) T ST YUSR

frefetaa oAl W faer ®¢ 3R A

(i) SOR-EY fafy uE: eifas ara
et gt STl € 1

(i) 9 UesH g2eh SUANTHAT TS ha
AT % @ge H EET & o
gwmw:«mqaﬁqﬁ%ﬁ

|

(iii) fosmom favmm & A & T

Tt & W Feheaw T BT E |

%

(A) (i) 3R (i) T € |

(B) (i) i (iii) W& & |
o (i) W& & |

(® .
(D) T W |

ga-l & FE B ogE-ll "o
T & T Y

= - | =t - 11
| oIreT GSfeeor 1. UREe WiaE=
U
[, o Al 2. e uiaq=
39 oAk T
T BT € |
. @y fouor 3. dreel 9iqa=
Uiqua =
i STET
AT T
34 HeTd
TATE
IV. T Tea % 4. HRAeEH oe
org v oo ufaam
SUGIE]
TR & |
FHT
| 1 11 v
(A) 2 3 1 4
B 1 2 4 3
) 4 1 3 2
(D) 3 4 2 1
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44,

45.

46.

Venture capital financing at starting
stage is generally not done through

(A) Debt instruments
(B) Deep discount bonds
(C) Equity shares

(D) Conditional loans

Match the statements in List-l with
the types of lease in the List-1l as
follows :

List—1 List—11
| Lessor transfers all 1.Indirect
risks and rewards lease
of an asset to the

lessee.

Il Lessor transfers the 2.Operating
assets to the lessee lease
but bears the cost
of maintenance

Il The owner of the 3.Finance
asset sells it to the lease
lessor who in turn
leases it back to the
owner (now lessee)

IV Lessor owns/ 4.Direct
acquires the assets lease

that are leased to a

given lessee.
Codes :
| nua v
A 2 3 4 1
B 1 4 2 3
© 3 2 1 4
M 4 1 3 2

Full details for the issue of ADRs by
a company must be furnished within
30 days from the date of its closure to

(A) Securities and  Exchange
Commission (SEC)

(B) Reserve Bank of India (RBI)

(C) Securities and Exchange Board
of India (SEBI)

(D) Company Law Board (CLB)
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47.

48.

49.

50.

ol.

The degree to which the returns of
the two securities change together, is
reflected by

(A) Correlation (B) Leverage
(C) Covariance (D) Beta

The transfer by a company of one or
more of its business divisions to
another newly set up company is
called

(A) Demerger

(B) Merger

(C) Equity Carve-out

(D) Disinvestment

What combination of the following
factors influences the working capital
requirement ?

I Market Conditions

Il Production Policy

11 Firm’s goodwill

IV Supply conditions

Codes :

(A) I, land HI
(B) I, Il and IV
(©) I, Hland IV
(D) I, 1land IV

Which of the followings are the

modern method of performance

appraisal ?

(i) 360  degree  performance
appraisal.

(i)  Graphic rating scale.

(ili) Management By Objectives
(MBO).

(iv) Forced distribution method.

(v) Behaviourally Anchored
Rating Scales (BARS).

Select the correct answer from the

codes given below :
(A) (i), (iD), (i) (B) (i), (iv), (V)
(€ (), (i), (v) (D) (iv), (i), (i)
Which of the following principle
serves as a warning to organisations
not to take the selection and
promotion process lightly ?
(A) Promotion Principle
(B) Drucker Principle
(C) Validity Principle
(D) Peter Principle
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44,

45.

46.

. ETehdl aReHr

RO ST § Sitey goit famdioor
freferfad & A @ @i e e

(A) o T

(B) T &g SY-UN

(C) |HaT 33T

(D) T o

gAl-1 & FA o G-Il H U8 F THR
=i - |

TgTehd IREE &

T SiEHT 31T

TIRAITTERT T USTIR

I AT FAT T |

a1
1. 3YT&T 91

2. g U
ST bl 3TART &

T & TR TERE

AT e HAT T |
g & @ 39 3. fasig U
TSTehall ol ST & 3
TgTehal sel H STt

H (379 TSTERY) U3 W

IAE |

. USTohdl IRl 1 4. egel ugT

T} A7 3T B ©
Tt fop wep e T Uy
Y 1 U3 I & ST
g

T4

(=N

WEFEDN_ =

N-bool—‘<

(A)
(B)
(©)
(D)

FIOAT FRT T 8 3R (ADR) FriE =t

qul g e st et fatar @ 30 fea

&% AR AT ®9 F 1 ST =ieT

(A) wiaqfq wa fafma smm (SEC)
Gl

AwpPR N —
RPN D W

(B) wRdg =@ a9 (RBI) &t

(C) ¥Rdra wfayfd wa fafma uReg
(SEBI) =t

(D) & HHA uReg (CLB)
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47.

48.

49,

50.

ol.

T wfaufaal & v g g osier o
HI-A1Y IEeld & 39 Yohe foham S &
(A) TwEEEYER (B) SHOH ERT
(C) WEUMUIERT (D) eI gRT
FIAT GRT A0 TH I 3 FIA
T Bt TRl o7 FaMHd BT b
T el STl &

(A) e

(B) faerm

(C) TwaT &1 TRTe fosha

(D) faferer

ffefad ®Rel H1 HH T GESH
FHIMCT st I STERIHAT HI T
FIATE 2

() R feafaat

(1) 3R T

(1) &8 H g

(1V) emgfc =t feerfaat

ETE

(A) 1, 1131

(B) 11, 111 AR IV

(C) I, 13RIV

(D) I, 13RIV

frfafed & 4 FoeA goaiss @

MYk fafy i @ & 2

(i)  360° feult Foas= geais

(i) VTR Lol Ao

(iii) =¥ g7 Ua=eH (MBO)

(iv) FoTFd faazor faty

(V) TTTRRRE [&RE guiea qmoHt
(BARS)

e 15T el F el IR A 9T

(A) (), (i), (i) (B) (i), (iv), (V)

(©) (), (i), (v) (D) (i), (i), (i)

frfefad & ¥ & a1 e 9T &

for damadt & FR Far € 6 = e

UG HfsHAT i FeTehu | 7 forr S 2

(A) TEHT 1 g

(B) T 1 TG

(C) oo o fagT=

(D) dieX &1 fasT
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52.

53.

54,

55.

According to D. Katz morale has

four dimensions :

(i)  jobs satisfaction

(it) satisfaction with wages and
promotional opportunities.

(iii) Identification with company.

(iv) Pride in the work group.

(v) Top Management Support.

Select the correct combination.

(A) (), (i), (iii) and (iv)

(B) (i), (ii), (iii) and (v)

(C) (i), (i), (iv), and (v)

(D) (i), (iii), (iv) and (v)

HRM is viewed as a management
process, consisting of four functional
activities :

(i)  Acquisition

(i)  Motivation

(iii) Development

(iv) Resolution of industrial disputes
(v) Maintenance

Select the correct combination.

(A) (i), (i), (iii) and (iv)

(B) (i), (ii), (iii) and (v)

(C) (i), (i), (iv) and (v)

(D) (i), (iii), (iv) and (V)

O C TA PA C stands for

(A) Order, Co-ordination, Trust,
Authority, Personality and Co-
operation.

(B) Openness, Confrontation,
Trust, Authenticity, Pro-action
and Collaboration.

(C) Organisation, Conflict, Team,
Authority, People and
Collaboration.

(D) Oneness, Compromise, Tress
pass, Authority, Protection and
Combination.

Technique of ‘Transaction Analysis’
was developed by

(A) Elton Mayo

(B) Peter Drucker

(C) Eric Berne

(D) Adam Smith
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56.

S7.

58.

59.

60.

Which one of the following methods
is not a demand forecasting method
of Human Resource Planning ?

(A) Managerial judgement

(B) Managerial grid

(C) Work study techniques

(D) Statistical techniques

Transaction of Internet Banking

excludes

(A) Withdrawal of cash anywhere
in India.

(B) Statement of account for a
specific period.

(C) Transfer of funds from one
account to another account.

(D) Balance enquiry.

Which among the following is not a
category of Non-Performing Assets ?
(A) Substandard Assets

(B) Doubtful Debts

(C) Loss Assets

(D) Devaluated Assets

When a loan will be NPA ?

(A) Interest and/or loan instalments
overdue for more than 90 days.

(B) Account is out of order for
more than 90 days in case of
overdraft/cash credit.

(C) Bill remains overdue for more
than 90 days.

(D) All of the above.

Assertion (A) : “The problem of
rural credit is not primarily one
of rural credit, it may be said to
be one of rural minded credit.”

Reason (R) : The Indian economy
has yet to come out of rural
mentality.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A) is correct, but (R) is
incorrect.

(D) (R) is correct, but (A) is
incorrect.
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52.

53.

54,

55.

2l FIeS & AR, TFEA % GRS

g

(i) e g ,

(i) ST T R TR % q1d
T

(iii) =HET o AT Ted

(iv) & e & e

(v) RTER vy & e

&I YA ol T o

(A) (i), (i), (iii) T (iv)

(B) (), (i), (iii)‘Fff(V)

(C) (1), i), (iv) T (v)

(D) (i), (i), (iv) T (v)

G GHEE USRS Sl OR hES

fspanent & vere Uik & ®0 A <@

C‘ﬂ?ﬂ%:

(i) o

(i) sTmRoT

(i) foprar

(iv) STENTTe foamat s R

(V) R T

&I GAST ol T

(A) (i), (i), (iii) T (iv)

B) (), (i), (iii)QTff(V)

(€) (1), (iD), (iv) T (v)

(D) (i), (iii), (iv) Ta (v)

OCTAPACTH 3™ & :

(A) SIS, HI-MSHIA, 2, A,
qEAfeS! TUE - SHTOY

(B) U,  HRSM, I,
g

(C) oHESvH,  Hiffede, 2,

(D) o, HEIHTEST, THUM, 3T,
TR 31T Hifta9H

‘FER  foveuor  # dedls e

Torplaa =t ot 2

(A) Te HA

(B) X gH

(C) W=

(D) ueH fEy
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56.

S7.

58.

59.

60.

Ae SreE fEeE st qarEe faty
ffeiad & & M 9 &l ¢ 2

(A) TSEHE I

(B) verusE s

(C) = 3read AHAIh

(D) wiRETR qHth

frefafed § @ 9 O oed S

SR T &l &1 Wehell & 2

(A) YRT H Fel ot ThT T STEX0T

(B) Tiv=a em@fy & fo@ @@ @t
foraoT

(C) UH T W @ T & HT 3T

(D) 39 H IBAS

RRA Bt oo e estas s i S L
ffated & @ 9 T8l & 2

(A) SUHFHE IR

(B) wfeTy ur

(C) @i uRemtaat

(D) stEyfead ufeamfaat

TS 0T el TA.O1T, BT 2

(A) =T AT For e 90 Tt &
atfyes % ford shl & |

(B) afufaret/ehs 0T & AT H 90
fet @ et & T @ Fitrg
T

(C) fot 90 At & atfew o ford
e Tt & |

(D) 7= &+ |

AMMHYA (A) : AT FOT B G
T TTHIOT 0T Y & Rl & | 3
UTHIOT AT & 0T Bl T
FEl T Gl & |

HRUT(R) :9RAE  seieaen &t
THIoT ARG @ onf off S
T € |

72 .

(A) (A) 3R (R) 3T &t € |

(B) (A) 3R (R) I Toid & |

(C) (A) e g W (R) T & |

(D) (R) W& & = (A) Tord & |
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61.

62.

Match the items of List-1 with the
items of List-11 and select the correct
answer :

List—1 List— 11
(i) Debit card (@) Several
storage
(i) Creditcard  (b) Online
recovery
of amount
(iii) Electronic (c) Image
purse processing
use
(iv) Cheque (d) Revolving
function credit
Codes :
(i) @) (i) (iv)

(A) © @ @ (O
B) @ (® (@ (@
€ @ © @ (O
D) @ @© b @

Assertion (A) : The Indian economy
could survive in the recent
global recession due to its
strong banking system.

Reason (R) : The Indian economy
contains a large amount of
black money.

Codes :

(A) Both (A) and (R) are correct
and (R) is the explanation of
(A).

(B) Both(A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (R) is correct, but (A) is not the
appropriate assertion of (R).

(D) Both (A) and (R) are incorrect.
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63.

64.

Assertion (A) Most of the
development bank in India
have setup private commercial
banks after the introduction of
capital adequacy norms.

Reason (R) : Development banks in
India have not adhered to their
basic objectives.

Codes :

(A) (A) and (R) both are correct,
and (R) is correct explanation
of (A).

(B) (A) and (R) both are correct,

but (R) is not a correct
explanation of (A).

(C) (A) is correct, but (R) is
incorrect.

(D) (R) is correct, but (A) is
incorrect.

Match the following items of List-I
with List-11 :

List—1 List—11
(a) Brettonwoods (i) 1947
conference
(b) General Agreement (ii) 1964
on Trade and Tariffs
(c) ACCRA conference  (iii) 1944
(d) United Nations (iv) 2008
Conference on Trade
and Development
Codes :
() @) (i) (iv)
(A) (b) (d (a) (o)
(B) () (d (c) (3
€ () () W (@
(D) (© (@ () ()
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61.

62.

gAl-| & 7]Y B G-I wF wEF AT
AT Y SR TEl 3T H T

= - | = - 1
(i) SEHFE () Tg WSRW
(i) HSTHS  (b) TR B A
e el
(iii) SR T (c) T TG
ST

(iv) =% B F-  (d) TOH FOT
Bie

A

(i) @) (i) (iv)
(A) © @ (@ (O
B) @ @b (@ (@
€ @ © @ (O
D) @ © b @

ATH (A) : TR T 319
ST ST STaeIT % HRUT &TeA
&1 ol Afvass |51 A feaht W |

FHROT(R)  : IRAE eigaen § agt
G § BT 47 € |

(A) (A) 3R (R) T4 @& & 3w (R),

(A) = T& == E

(A) &R (R) i W@l €, W= (R),
(A) Ft TEl e e T |

(R) W&t & W (A), (R) T FHfer
TETTEE |

(A) 3 (R) T ToAd & |

(B)

(©)

(D)

J-08-13

19

63.

64.

AUHAT (A) : 9RT H AR Tom
Fept = USTl g AFSEl % AN
T F I et afoias S
e fe €

FROT(R) :9Rd § faerg d&f
T Hold el I W @l
HE |

%<

X .

(A) 3T (R) HT @& & 3T (R),
(A) = T& AT E |

(A) 3R (R) =T @&l €, = (R),
(A) Tl T& AT T E |

(A) T&l &, W= (R) Tord € |
(R) W&l &, W= (A) T € |

(A)

(B)

(©)
(D)

gAl-1 TR B GA-11 B AT F qr

'ﬂﬁf?lﬁﬁ
= - | =t - 11

(@) sieAgeg wWHew (i) 1947

(b) ST Wie 3= (i) 1964
7T we Red

(C) 3THT (ACCRA) (iii) 1944
HEHH

(d) FREE ATFd (iv) 2008
FHHERT 31 2T TS
SIS

T

() @) (i) (iv)
(A) () @ @ ()
B) () @ @© (@
€ () @ @ (@

(D) () (@ (b (d)
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65.

66.

The forces that lend momentum to
the process of globalization have
been identified by Michael Porter
include the following :

(i)  Fluid global capital market.
(i) Technological restructuring.
(ili) Decreasing religious command.
(iv) Ethnic decontrol.

(v)  New-global competitors.

(vi) End of the ‘cold war’ in 1990s.
Codes :

(A)  (vi), (v), (iv) and (iii)

(B)  (vi), (iii), (ii) and (i)

(C)  (vi), (v), (ii) and (i)

(D) (iv), (iii), (ii) and (i)

Statement (1) : Green Box subsidies
include amount spent on
Government services such as
research, disease  control,
infrastructure and food
security.

Statement (I1) : Blue Box subsidies
are certain direct payments

made to farmers, to limit
production, and are certain
government assistance
programmes to  encourage
agriculture and rural
development.

Codes :

(A) Statement (1) is correct, but (1)
IS not correct.

(B) Statement (I1) is correct, but (I)
IS not correct.

(C) Both statement (1) and (Il) are
correct.

(D) Both statement (1) and (Il) are
incorrect.
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67.

68.

Assertion (A) : The major economic
powers have succeeded in
creating a new international
regime where the profits and
the dominance of their
transnational corporations will
be the decisive consideration.

Reason (R) This regime will
legitimise the process of
progressive erosion of the
sovereign economic space of
the third-world countries.

(A) Both (A) and (R) are correct,
and (R) is the right explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not the right
explanation of (A).

(C) Both (A) and (R) are incorrect.

(D) (R) is correct, but (A) is not
correct.

Assertion (A) : The ‘Balance of
Payments’ presents a classified
record of all receipts on
account of goods exported,
services rendered and capital
received by ‘residents’ and
payments made by them on
account of goods imported and
services received from capital
transferred to ‘non-residents’ or
‘foreigners”.

Reason (R) The ‘Balance of
Payments’ of a country is a
systematic record of all
economic transactions between
the ‘residents’ of a country and
the rest of the world.

(A) Both (A) and (R) are correct
and (R) is the right explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not the right
explanation of (A).

(C) (R) is correct, but (A) is not
correct.

(D) Both (A) and (R) are incorrect.
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65.

66.

ATEHeT UIeY §RT AVAHIT i UTshaT ohi
TMAAET a1 oSt USH Aol o
wiferTal Bt 9E=TT TR € o fefetEa 9
FHTH T ?

(i) e dfves gsit IR
(i) SR g
(iii) @fies Fa=oT 6 T
(iv) Tome fafae=o

(v) o afvaes wfaar
(vi)
T
(A) (i), (v), (iv) 3 (i)
(B) (vi), (iii), (ii) 3 (i)
(©)  (vi), (v), (ii) 3 (i)
(D) (iv), (iii), (ii) 3R (i)

1990 % 39F § ‘¥ I5~ T 3T

afipe (1) : U oo gfsger |
WHR R T Hareh, w9
Iy, SR W I, SR
YT U @R GO W T
= 3T 1 THEY foha SIar & |

atfiremer (11) : =] ST |isge!, 3R
it 5 % o0 ohami =t 6
T FF TR A §, 3R FH
Td UTHOT AT i Weded R
% ol F5 THRT R HEshA
T

(A) et (1) Tet T, T (1) T&
T T |

(B) e (1) @&t &, W= (1) Tt
T T |

(C) atfiyerer (1) 3T (11) ST WET € |
(D) afepe (1) 3 (11) SHT W&t T8l
El
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67.

68.

AH (A) : T 2T AIfeRTar el
AL o H o HH B
et & T © S SR e
FHAET A TS AR 81 A
FHRIR Fifee & |
FROT(R) 39 I 9 gar fovd
% I H 3TH T H REE
1 UfshaT T Y &1 9T |
(A) (A) W& (R) 9 el & @ (A) &
(R) T&T TSl € |

(B) (A) 3R (R) 1 Wl €, T (A)
(R) T&T TIEIoT 61 & |

(C) (A) 3R (R) 3T Tora € |

(D) (R) W& &, = (A) Tord ¢ |

AHHUT (A) © “TIAA Fem Haiaq
T, Ued Warsht & WA o
FEIAT o A Ta U T o
Feet R Tt ereren fasfert
H TR T TS % e

FTehe THET-STET € |

HRUT(R) fpdl T &H JEE

o 3T e wd o ferge

% S B ool ST oSl

e faero € |

(A) 3R (R) 3HT T &, 31X (A) &

&l = (R) AT & |

(B) (A) ¥R (R) SHI Wl & W= (A)
1 Tel = (R) el e |

(C) (R) W&l &, W= (A) Tad & |

(D) &Hi(A) TE (R) TR € |

(A)
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69.

70.

Which among the following is not
rightly explained ?

(i) M, = Currency with the public

+ demand deposits of the
public.

(i) M, =M, + Post Office Savings
Deposits.

(iif) M; = M, + Time Deposits of
the public with Banks.

(iv) M, = M, + Total Post Office
Deposits.

(v) M, = Narrow money

(vi) M, = Broad money
(A) Only (v) and (vi)
(B) Only (i) and (iii)
(C) Only (vi)

(D) None of the above

Which of the followings are not
effect of dumping on importing
country ?

(i) Domestic industry might be
affected adversely by a decline
in sales and profits.

(i)  If dumping is continued for a
longer period, survival of the
domestic industry may be
threatened.

(ili) Dumping may create BOP
problems for the country.

(iv) It finds market for its surplus
production.

Codes :

(A) (i), (i), (iii) and (iv)
(B) (ii), (iii) and (iv)
(C) (iii) and (iv)

(D) Only (iv)

71.

72.

73.

74.

75.
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Donation to National Children’s

Fund will come in which of the

following deduction under Sec. 80G

of Income Tax Act, 1961.

(A) 100 percent deduction without
any qualifying limit.

(B) 50 percent deduction without
any qualifying limit.

(C) 100 percent deduction subject
to qualifying limit.

(D) 50 percent deduction subject to
qualifying limit.

If the taxable income of a domestic
company for the Assessment Year
2011-12 is ¥ 9,00,000, its tax liability
will be

(A) % 2,76,800
(C) 3,70,800

(B) ¥ 2,78,100
(D) 3,70,880

Unabsorbed  depreciation  which
could not be setoff in the same
assessment year, can be carried
forward upto

(A) 4 years

(B) 8years

(C) 10 years

(D) Indefinite period

If the book profits of a partnership
firm is ¥ 1,10,000, the remuneration
admissible to working partners under
Sec.40(b) of the Income Tax Act,
1961 is

(A) 1,10,000

(B) ¥1,50,000

(C) 99,000

(D) None of the above

Which of the following expenses is

inadmissible  while  computing

income from other sources ?

(A) Interest paid on amounts
borrowed to meet tax liabilities.

(B) Collection charges paid to the
banker or any other person to
collect interest/dividend.

(C) Interest on loan taken to invest
in securities.

(D) Depreciation on
machinery and plant.

let-out
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69.

70.

frfefad 5 9 fhaen! el e T8 &
T E 2

(i) M, = ST % 9" 9T + S 6
Aty ST

(i) M, =M, + S =R % I Fod

STHT AR

My = M, + ST &1 et & o

EIEIEASEI

(iv) M, = M, + S B % I FA
STHT AR

(v) M, =FHor qa1

(Vi) My =< 4

(A)  Fae (v) 3T (vi)

(B) e (i) 3 (iii)

(C) Fae (vi)

(D) S | ¥ HIE Tel

(iii)

STTAT YA Aot 91 TR AT BT TeTel

s T Riea e ?

(i) =R ST & fasea 3R o e
T T Ua Ig Tehal & |

(ii)  @fE A o T q% @ &
& W] AT F e F R
TATE |

AR % SR L & ford
YA o Sl TEET 3T &l
el & |

(iv) ¥ SifaRed Scaed & ot aeR
feT ST € |

(iii)

(A) (i), (ii), (iii) T (iv)
(B) (i), (iii) T (iv)
(C) (iii) wd (iv)

(D) ke (iv)
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71.

72.

73.

74.

75.

frfaiad § @ 6 |1 ST ATaam,

1961 1 €RT 80 (ST) & =TI AL

T I i UG S o 3TEY TR 2

(A) o fdt g dEr & 100 wfeTd
Eani)

(B) femm fordlt g drmm & 50 Wi
Eani)

(C) 100 U Jvr | i 917 T
(D) 50 UfcAeTe JF T St I W

I WG FEA W wERT
FfEror ag 201112 % @
% 9,00,000 2, T 3Geh! T T 41 BT 2
(A) 276,800 (B) ¥2,78,100
(C) ¥3,70,800 (D) % 3,70,880

SN B, Seh! S HRI-TeRoT oy
T eifqqf =&l =t T Tebel €, i feha o
% foT8 3T o STEr ST el & 2

(A) 499

(B) 8=

(C) 10a9

(D) 3= e & for

s WERR ®H H G oy
? 1,10,000 & dUT IMEHT AMHEH
1961 & o €rT 40(b) H HEHRT
TERR W uREfge 27 € a3
iesates g

(A) % 1,10,000

(B) ¥ 1,50,000

(C) 99,000

(D) SUgH | ¥ Hig T@l

I F T Al ¥ MM A W

fefefad & | o9 9 = swesE € 2

(A) X Tl B gHH F faw fod
TT SYR T AT T T

(B) o AT 3 ATKT FRT AT 37l
AT o TURYT & IehrT Tl

(C) viayfaar & faf=m &g ford ™
YR T S

(D) fom W I gT A T wIe
By
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